4010-540 Principles of Software Architecture and Design

Unit #2 – Chapter 14 [Product Line Architecture] – Team Questions

	Member #1 Name
	Name #1 – replace blue text with your responses.

	Member #2 Name
	Name #2

	Member #3 Name
	Name #3

	Member #4 Name
	Name #4

	Member #5 Name
	Name #5


1. Name a family of systems you’ve either worked on in a class, or had experience with as a user, that might be developed as a product line. If you’re having trouble finding such a system, look in the world of computer games – there are many possible examples there. In any event, briefly justify your selection. (5 points)

For the family you select, identify two variation points that would have to be supported in the base architecture for the product line, and provide a brief rationale for your choice. Then, for each variation point, identify and describe a way in which the variation might reasonably be supported (see page 361 for some ideas). Be sure to include a rationale for the variation support mechanisms you select. (5 points each, 15 points total for the entire question)

System family

Family name and justification

Variation Point #1

Name and justification

Support mechanism and rationale

Variation Point #2

Name and justification

Support mechanism and rationale

2. Page 364 mentions two approaches to adopting the product line approach: bottom up and top down. Name and briefly describe one potentially positive aspect and one potential problem area associated with each of these approaches (5 points each, 20 points total)

Top down

Top down positive aspect

Top down problem area

Bottom up

Bottom up positive aspect

Bottom up problem area

3. Page 364 also mentions two ways in which a product line may evolve. The proactive model is one where the product line and common architecture result from up front planning based on domain knowledge, market knowledge, and technology trends. The reactive model is one where the common assets are the result of what turns out to be common as each new member of the family is built

Give an example of an existing or hypothetical product line where a proactive approach would be most appropriate. Given another example where the reactive approach would be more likely to succeed. Be sure to provide justification (e.g., a well thought out rationale) for the examples you choose. (5 points each, 10 points total)

Proactive example

Your team’s answer here

Reactive example

Your team’s answer here

4. If a company builds two systems from a large body of common assets (including a common architecture), then obviously the systems form a product line. Other situations are less clear, however.

Listed below are different ways in which the pair of systems might share assets. For each item in the list, tell whether or not your team believes that the resulting systems form a product line, and provide a rationale for your answer. (5 points each, 10 points total)

The systems share a common architecture but no common code elements.

Your team’s answer here

The systems share a common operating system, a common programming language, and the programming language’s standard libraries.

Your team’s answer here
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